

INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED **ALLOCATION OF FUNDS PROPOSAL** FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 10	0/10/2016
------------------------	-----------

EVENT DATE: 10/31/2016

EVENT NAME: Spooky Cupcake Social

CLUB: Lambda Alliance

TOTAL AMOUNT REQUESTED: \$300.00

TOTAL AMOUNT APPROVED: \$300.00

VOTE

YES: 6

NO: 0

Meeting Notes

Have done this before with 40 attendees

ASUCM PRESIDENT SIGNATURE:

Katelyn Folgeruld

DATE:

APPROVED:

NOT APPROVED:

From: <u>asucm@ucmerced.edu</u> on behalf of <u>Associated Students of UC Merced</u>

To: <u>UCM Inter-Club Council</u>

Subject: Form submission from: ICC Proposal Form Date: Wednesday, October 05, 2016 10:11:02 AM

Submitted on October 5, 2016

Submitted by anonymous user: [::ffff:169.236.78.21]

Submitted values are:

Contact Name (First and Last): Andre Frise Contact E-Mail: afrise@ucmerced.edu

Club Name: (626) 927-8991

Are You a New or Returning Club for the 2015-2016 Academic Year? Returning

What Type of Proposal is This? Small Ticket

Event Date: Oct. 31, 2016 Start Time of Event: 7:30 pm End Time of Event: 8:30 pm Event Title: Spooky Cupcake Social

Event Location: COB 114 Description of Event:

Lambda Alliance will be collaborating with Bakery Club to host a Halloween social titled "Spooky Cupcake Social." The Bakery Club will be baking cupcakes which attendees can decorate and personalize. While the cupcakes cool down, we will be hosting a costume contest, games, and activities before enjoying the freshly-made cupcakes.

Note: Bakery Club and Lambda Alliance officers who have completed Food Handling certification are the only individuals allowed to handle the cooking, per UC safety guidelines.

Have You Received an ASUCM Line Item for this Event? No

Budget Breakdown:

http://asucm.ucmerced.edu/sites/asucm.ucmerced.edu/files/webform/spookycupcakesocial_budgettemplate_lambda.docx

Total Amount Requested: \$300.00 Are You Bringing in a Speaker: No Description of Speaker (Optional):

The results of this submission may be viewed at: http://asucm.ucmerced.edu/node/135/submission/4641



INTER-CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED - RCO EVENT FUNDING PROPOSAL -



RCO Name: Lambda Alliance at UC Merced

Event Title: Annual Spooky Cupcake Social

Total Amount Requested: \$300

FOOD/DRINKS - [\$200]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Hershey's Kisses Milk Chocolate with Caramel,	Wal-	\$5.75	4	\$23.00
Family Bag Skittles/Lifesavers/Starburst Candy Variety Pack	Mart Wal-	\$7.00	4	\$28.00
Candy-Mold Bow	Mart Wal- Mart	\$5.00	3	\$15.00
Brach's Classic Candy Corn	Wal- Mart	\$5.00	3	\$15.00
Reddi-wip Original Dairy Whipped Topping	Wal- Mart	\$2.00	3	\$6.00
The Bakery Baker's Half Dozen Glazed Donuts, 7 Count	Wal- Mart	\$2.00	2	\$4.00
Great Value Self-Rising Flour, 5 Lb	Walmart	\$3.00	1	\$3.00
Gold Medal All Purpose Flour, 5 Lb	Walmart	\$2.00	1	\$2.00
Challenge Unsalted Butter 16 oz	Target	\$5.00	1	\$5.00
C&H Pure Cane Granulated White Sugar, 4 Lb	Walmart	\$3.00	1	\$3.00
Market Pantry 18 CT Large Grade A	Target	\$5.00	1	\$5.00
Simply Balanced Almondmilk original Half Gallon	Target	\$3.00	2	\$6.00
Lactose Free Vitamin D Milk Half Gallon	Target	\$4.00	2	\$8.00
Dairy Pure 2% Milkfat Reduced Fat Milk 1 Gallon	Target	\$5.00	1	\$5.00
Up & Up Foam Cup 36 cups – 12 FL OZ	Target	\$2	2	\$4.00
Up & Up heavy-duty paper plates 54 ct	Target	\$4.00	1	\$4.00
Up & Up Premium Plastic Forks 48 ct	Target	\$4.00	2	\$8.00
Bounty Napkins 220 ct	Target	\$3.00	1	\$3.00
Market Pantry Vanilla Extract 2 FL OZ	Target	\$4.00	2	\$8.00
Morton Iodized Salt 28 OZ	Target	\$1.00	1	\$1.00

Simply balanced organic powdered sugar 16 oz	Target	\$4.00	2	\$8.00	
Pillsbury Fluffy Frost Chocolate Marshmallow	Target	\$2.00	2	\$4.00	
Pillsbury Creamy Supreme Vanilla Frosting 16 OZ	Target	\$2.00	2	\$4.00	
Sprinkles Target Distributed Halloween Decorating Candles	Target	\$5.00	1	\$5.00	
Wilton Rainbow Sprinkles - 3 oz.	Target	\$3.00	1	\$3.00	
Wilton chocolate jimmies sprinkles (orange, green, purple mixture)	Target	\$2.00	1	\$2.00	
Market Pantry Assorted Food Color 4 Bottles	Target	\$2.00	2	\$4.00	
	I			\$186.00	SUBTOTAL
				\$14.00	TAX (if applicable)
				\$200.00	GRAND TOTAL

$\underline{\textbf{ADDITIONAL SUPPLIES}} - [\$50.00]$

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Handi –Foil Pot Pie Pans	Wal-Mart	\$5	10	\$50.00	
				\$50.00	SUBTOTAL
				\$0	TAX
				\$50.00	GRAND TOTAL

$\underline{\mathbf{OTHER}} - [\$50.00]$

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Multi-Purpose Colored Craft String, 29-1/2', Brights	Wal- Mart	\$5.00	2	\$10.00	
12 Latex Assorted Color Balloons	Wal- Mart	\$5.00	6	\$30.00	
Tape	Wal- Mart	\$2.00	5	\$10.00	
	\$50.00	SUBTOTAL			
				\$0	TAX
				\$50.00	GRAND TOTAL